@5/16 SS LOCK WASHER

@5/16 SS WASHER
END CLAMP

@5/16 HEX HEAD BOLT

REV DATE DES

REVISION DESCRIPTION CADD CHK RvVW

SOLAR PANEL

@5/16 FLANGE BOLT

5/16-18 SS HEX NUT

K-NUT

RAPID 1 RAIL

RAPID 1 RAIL

L-BRACKET 1 L-BRACKET
@5/16 SS LOCK WASHER 7/
@/5/16 EPDM BONDED WASHER
@5/16 SS WASHER
@/5/16 EPDM BONDED STEEL
WASHER PLATE
BLUESKIN SA APPLY A BEAD OF 925 BES SEALANT AROUND  —————
WATERSHIELD ; AND BETWEEN ROOF AND WATERSHIELD \
| | ‘ ‘ |
) o b \ ~. TOP VIEW STEEL ROOF
-~
STEEL ROOF STEEL SCALE 3"=1-0"
STRAPPING PLATE
ENGINEER'S SEAL BELOW IS APPLICABLE
— — ————  FILL HOLE WITH 925 BES SEALANT TO SOLAR RACKING ONLY.
— — BEFORE INSERTING LAG BOLT
— EXISTING RAFTER, =
— TRUSS OR —~
— REINFORCING — %6 SS LAG BOLT CENTERED ON RAFTER 2x
—] —] BOLT LENGTH 3" PLUS STRAPPING THICKNESS
~ MEMBER ] @, PILOT HOLE
|
END CLAMP SSCEELT&N v '1E._\3/.. RAPID 1 RAIL
AUGUST 24, 2016
APEGA P-13431
T
% Kinetic
WEEB-M-KR SOLAR RACKING AND MOUNTING
PROJECT
y
KINETIC RACKING
TITLE
MID CLAMP

RAPID 1 RAIL WITH L-BRACKET
AND END CLAMP

LEFT VIEW

SCALE 6"=1'-0"

NOTE:

MID CLAMP WITH WEEB-M-KR
SCALE 6"=1'-0"

ISOMETRIC VIEW
SCALE 3"=1'-0"

THIS ASSEMBLY SKETCH IS FOR ILLUSTRATION PURPOSE ONLY. PLEASE CONTACT YOUR P.ENG FOR EXACT NUMBER OF ATTACHMENT POINTS.

TYPICAL ATTACHMENT POINTS
FOR PITCHED STEEL ROOF

DESIGN | XXX 20/04/2015 FILE No. Q01
CADD | XXX |19/02/2016 | SCALE AS SHOWN
REVIEW 19/05/2016 | REV. 3 |
PROJECT No.

DRAWING: MUSTAFA NAZARI




